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QUESTION 1

Which three are true about thresholds, metrics, and server-generated alerts? (Choose three.)

A. All metrics are instance related.

B. Cleared stateful alerts are displayed by querying DBA_ALERT_HISTORY.

C. A space usage management alert is automatically cleared after the underlying problem is resolved.

D. They are generated by SMON when a tablespace is 97% full.

E. Metrics are statistical counts for a specific unit.

F. STATISTICS_LEVEL must be set to ALL to generate alerts.

Correct Answer: BCE

A. False. Tablespace Space Usage metris is database related

B. True. Stateful alerts appear in DBA_OUTSTANDING_ALERTS and, when cleared, go to DBA_ALERT_HISTORY
C. True. Most alerts (such as "Out of space") are clared automatically when the cause of the problem disappears.
D. False. They\\re generated by MMON

E. True

F. False. This parameter is not required to generate alerts

Reference: Oracle Database 12c: Administration Wrokshop

https://docs.oracle.com/cd/E11882_01/server.112/e41573/autostat.htm#PFGRF027 https://blogs.oracle.com/oem/how-
to-clear-an-alert-v2

QUESTION 2

Which two are true about the automatic execution of operating system scripts when performing silent mode installation
starting from Oracle Database 19c¢? (Choose two.)

A. The response file can specify the root or sudo password.

B. The installer will prompt for the root or sudo password.

C. Silent install always runs operating scripts automatically.

D. The response file must contain the root or sudo password.
E. The response file can specify the path of the sudo program.

Correct Answer: BE

# # Specify the configuration method to be used for
automatic root script execution.
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#

# Following are the possible choices:

#- ROOT

# - SUDO

# oracle.install.db.rootconfig.configMethod=ROOT
# # Specify the absolute path of the sudo program.
#

# Applicable only when SUDO configuration method was chosen.

# oracle.install.db.rootconfig.sudoPath=
# # Specify the name of the user who is in the sudoers
list.

# Applicable only when SUDO configuration method was chosen.

# Note:For Single Instance database installations,the sudo user name must be the username of the user installing the
database.

Reference: https://oraclefact.wordpress.com/2019/08/05/1-install-oracle-database-19c-with-automatic-root-scripts-
execution/

QUESTION 3

Which three are true about Audit policies In container databases (CDBs)?

A. All audit records are written to the audit trail in CDOB$ROOT

B. A common unified audit policy can be created at the application root level.
C. A common unified audit policy can be created at the CDB level.

D. An application PDB cannot have a local audit policy.

E. Fine-grained auditing policies defined in an application root must be manually synchronized by each application PDB
contained in the application root.

F. Application-common unified audit policies defined In an application root must be manually synchronized by each
application PDB contained in the application root.

Correct Answer. BCE

QUESTION 4
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Which two are true about Recovery Manager (RMAN) diagnostic message output? (Choose two.)

A. Media Management messages for SBT devices are always written to shtio.log.

B. RMAN error stacks should be read from the bottom up as that is the order in which errors are generated.
C. RMAN error stacks should be read from the top down as that is the order in which errors are generated.

D. The RMAN LOG command line clause causes output issued during RMAN command compilation to be written to a
log file and to standard output.

E. The RMAN LOG command line clause causes output issued during RMAN command compilation to be written to a
log file only.

F. Media Management messages for SBT devices are written to an Oracle trace file.
Correct Answer: BE

[oracle@racl admin]$ rman target / log \\'/tmp/log.txt\\'

RMAN> list backup summary;

RMAN> exit

[oracle@racl admin]$ cat /tmp/log.txt

Recovery Manager: Release 19.0.0.0.0 - Production on Mon Jun 22 15:48:39 2020
Version 19.6.0.0.0

Copyright (c) 1982, 2019, Oracle and/or its affiliates. All rights reserved.

connected to target database: TST193 (DBID=1785824688)

RMAN>

using target database control file instead of recovery catalog

List of Backups

Key TY LV S Device Type Completion Time #Pieces #Copies Compressed Tag

1B F ADISK 15-JUN-20 1 1 NO TAG20200615T165352 2 B F A DISK 15-JUN-20 1 1 NO TAG20200615T174406 3 B
F A DISK 22-JUN-20 1 1 NO TAG20200622T095655 4 B F A DISK 22-JUN-20 1 1 NO TAG20200622T095942 5B F A
DISK 22-JUN-20 1 1 NO TAG20200622T154703

RMAN>

Recovery Manager complete.

QUESTION 5

Which three are true about Oracle Grid Infrastructure for a Standalone Server?
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A. It includes both Oracle Restart and Oracle Automatic Storage Management (ASM) software.
B. It creates one disk group during installation.
C. It requires the operating system oracle_base environment variable to be predefined before installation.

D. It requires Oracle ASM Filter Driver (ASMFD) to manage Automatic Storage Management (ASM) disks

m

. It requires Oracle ASMLibto manage Automatic Storage Management (ASM) disks.

F. Automatic Storage Management (ASM) requires that O/S groups OSASM and OSDBA be assigned as secondary
groups for its installation owner.

Correct Answer: ABF
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